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REERREMFRE=2)VHEERFEF120DHER
(FR30E9 A6 HAEDELR)
ER30F9A28H
[RF A K EH M FRAE (RETHRYT)
FEERKEXMEKAI (RFAH)
BESS ZRARERATEE(L Sv/h)
- RE-BES
No. | HETH K% SRR ZE | Som M FEA (st - 4BB DT 1 1E) =
ool em | wm | sm | ®im | sm | 21w
HERE | AERE | AERE | AERE | BESE | AEsE
_ 50cm 0.08 0.07 0.05 0.05 0.09 0.08
1 EEm HREE UHYDFREER 9A6H
1m 0.07 0.06 0.05 0.05 0.09 0.09
_ _ 50cm 0.09 0.11 0.08 0.08 0.10 0.10
2 EEm RER EFRER 9A6H
1m 0.10 0.11 0.08 0.09 0.09 0.10
_ 50cm 0.08 0.09 0.08 0.08 0.09 0.10
3 EEm HREE EODBREER 9A6H
1m 0.08 0.10 0.08 0.08 0.09 0.10
_ o 50cm 0.07 0.07 0.06 0.06 0.07 0.08
4 BET *REER EXREM 9A6H
1m 0.07 0.07 0.06 0.07 0.07 0.08
_ 50cm 0.08 0.07 0.06 0.06 0.09 0.09
5 EEm RER FAFZERER 9A6H
1m 0.08 0.08 0.06 0.06 0.09 0.09
_ _ ) 50cm 0.07 0.07 0.07 0.07 0.07 0.07
6 EEm HREE BEELRTIEZRER 9A6H
1m 0.08 0.08 0.07 0.06 0.07 0.07
50cm 0.11 0.12 0.06 0.06 0.10 0.10|
[#E-HES] mAEE
_ _ . 1m 0.10 0.11 0.05 0.05 0.10 0.11
7 BET YR EEmMILILRXHH#E 9A6H
50cm 0.09 0.10
[#RE-EHES] tAEE
1m 0.09 0.10
_ _ 50cm 0.08 0.10 0.07 0.06 0.09 0.09
8 EEm MFE BRI EKSHE 9A6H
1m 0.08 0.09 0.07 0.06 0.09 0.09
_ _ - 50cm 0.11 0.09 0.05 0.04 0.10 0.10
9 BET YR BEDIEZHHE 9A6H "H—U)L
1m 0.11 0.09 0.06 0.05 0.11 0.10
_ ) 50cm 0.11 0.10 0.10 0.08 0.10 0.10
10 BET YR HIXZHFHE 9A6H v —o
1m 0.10 0.10 0.08 0.09 0.10 0.10
_ N _ N 50cm 0.08 0.08 0.06 0.06 0.10 0.09
11 =BE™ INERR BEMIXEF B /NER 9A6H
1m 0.08 0.09 0.06 0.07 0.10 0.09
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BWSHEE=A) JRAE (EREF 120D HFR
(ERK30FE9 A6 AT ESR)

TR305%9H28H
RF N EE B RAE (RSHRYD
BERKEARAR (RFHYD

BAESS ERREERBIEME(L Sv/h)
= RE-BES
No. | wETH SRR ZE | Som M FEA (- MERD T E) =
o sm [ #nE | 2@ | s11E | 4@ | ®0@
BERE | BEnz | BEee | Paee | BEee | Bass
~ ~ 50cm 0.07 0.08 0.06 0.08 0.08
12 BET BEMILER/NER 9A6H
1m 0.07 0.07 0.07 0.08 0.08
~ ~ 50cm 0.11 0.14 0.07 0.08 0.08
13 BET RETNILRERE /NER 9A6H
1m 0.11 0.14 0.06 0.08 0.08
~ ~ 50cm 0.11 0.11 0.07 0.08 0.09
14 BET BEMILEKNER 9H6H
1m 0.09 0.10 0.07 0.07 0.09
~ o i 50cm 0.09 0.11 0.05 0.10 0.10
15 BET RETILEEE —FFEK 9A6H
1m 0.09 0.10 0.06 0.10 0.10
50cm 0.12 0.11 0.07 0.08 0.08
16 FEM SANEBEREFER 9A6H F11EAERELH: SNHWVRER
1m 0.11 0.10 0.08 0.08 0.07
‘ 50cm 0.06 0.05 0.07 0.07 0.06
17 FEH Z2)IhREFEH 9H6H
1m 0.06 0.05 0.06 0.06 0.06
‘ 50cm 0.09 0.08 0.05 0.08 0.09
18 FEH Z2IRER 9H6H
1m 0.08 0.09 0.06 0.08 0.08
50cm 0.08 0.08 0.07 0.09 0.09
19 FEH FEMIIEARLHE 9A6H [EM] FERLERNEREXA
1m 0.07 0.09 0.06 0.09 0.08
‘ 50cm 0.05 0.06 0.06 0.06 0.06
20 FEH FETILR)I/NER 9H6H
1m 0.05 0.05 0.06 0.06 0.05
50cm 0.08 0.08 0.06 0.10 0.09
21 FEH FEM LB AR NER 9A6H [EM] FERLIERNHE LKA
1m 0.07 0.09 0.06 0.09 0.08
‘ 50cm 0.14 0.12 0.07 0.07 0.07
22 FEH {FET LRI P2 9A6H
1m 0.14 0.11 0.07 0.07 0.07
- 50cm 0.08 0.09 0.07 0.15 0.15
23 | 2B 9H6H
1m 0.08 0.08 0.06 0.15 0.14
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EERREMFRE=FI)VIHRE(EREFEF12E)HER
(ER30F9A6HFAERN ER)
FRK304F£9H28H
BF DK EH i % AL RESHEID)
EEERERERD(EFAI)

BAESS ERREERBIEME(L Sv/h)
. RE-BES
THETA K% SRR ZE | Som M FEA (- MERD T E) =
o sm [ #nE | 2@ | s11E | 4@ | ®0@
BERE | BEnz | BEee | Paee | BEee | Bass
500m 0.13 0.16 0.07 0.09
AXETH REE EASBRREAVZEREER 9H6H [KE-BEES] BE. EALTLEL
1m 0.14 0.16 0.08 0.09
50cm 0.10 0.10 0.08 0.09 0.09 0.10
AXETH REE EACYRER 9H6H
1m 0.11 0.10 0.08 0.09 0.09 0.10
50cm 0.10 0.11 0.08 0.09 0.08 008 .
[KE-EES] RKE
) L . 1m 0.11 0.11 0.08 0.09 0.08 0.09
AXETH 2R ARETIULAREE—PER 9H6H
500m 0.09 0.09 .
[RE-BEEZ] /\VRKR—ILig
1m 0.09 0.09
] 50cm 0.11 0.12 0.08 0.09 0.09 0.10
REFH REE RKEHRER 9A6H
1m 0.10 0.12 0.09 0.09 0.09 0.09
50cm 0.13 0.13 0.08 0.08 0.08 0.08
REFH st REMIKRILSHE 9A6H
1m 0.11 0.13 0.07 0.08 0.08 0.08
50cm 0.07 0.07 0.08 0.08 0.07 0.08
REFH st REMIEHSHE 9A6H
1m 0.08 0.07 0.08 0.09 0.07 0.07
50cm 0.07 0.07 0.07 0.08 0.07 0.08
KEH INERR KEFILKIL/NER 9H6H
1m 0.07 0.07 0.08 0.09 0.08 0.08
50cm 0.07 0.09 0.08 0.10 0.08 009 .
[KE-EES ] FRE
) . 1m 0.08 0.09 0.10 0.11 0.08 0.08
REF INEEAR REFIZEHNPER 9H6H
50cm 0.07 0.07 . .
[KE-EES] BRE
1m 0.07 0.08
. i 50cm 0.08 0.10 0.09 0.09 0.08 0.09
REFH aele ot REMIKEDER 9A6H
1m 0.09 0.10 0.09 0.09 0.08 0.08
\ 500m 0.07 0.07 0.10 0.10 )
LT *REEH AXTRBEE 9A6H EFERBEOMEN =, REODHAE
1m 0.07 0.07 0.10 0.11
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BWSHEE=A) JRAE (EREF 120D HFR
(ERK30FE9 A6 AT ESR)

BAESS ERREERBIEME(L Sv/h)
= RE-BES
No. | wETH SRR ZE | Som M FEA (- MERD T E)
ool em | om | mim | sm | ®11m
NERE | HERE | BERE | BELE | BEsE | PEsR
~ 50cm 0.11 0.11 0.09 0.10 0.11 0.10
34 Bl EBRRERM 9A6H
m 0.10 0.10 0.09 0.09 0.10 0.10
50cm 0.10 0.11 0.07 0.08 0.09 0.09
35 B DUVDOVEE 9H6H
m 0.10 0.11 0.07 0.08 0.09 0.09
50cm 0.12 0.12 0.10 0.11 0.10 0.10
36 | ERL HOHRER 9868
m 0.11 0.12 0.10 0.11 0.09 0.10
. 50cm 0.08 0.10 18
37 | B FrA RS R EH T 9868 EMERBOMNEN O, FEOOHAE
m 0.07 0.09
50cm 0.09 0.09 0.09 0.08 0.08 0.08
38 B EHSHE 9H6H
m 0.09 0.08 0.09 0.09 0.08 0.08
50cm 0.09 0.10 0.07 0.08 0.12 0.12
39 | Rl FRILIT ST K B /N 9868
m 0.08 0.09 0.08 0.08 0.12 0.12
50cm 0.10 0.11 0.13 0.14 0.11 0.12
40 i AL ER/DER 9A6H
m 0.09 0.11 0.13 0.13 0.11 0.12
50cm 0.13 0.14 0.13 0.11 0.13 0.12
41 | Bl FRLLIT ST E F /AR 9868
m 0.12 0.14 0.13 0.12 0.13 0.12
50cm 0.09 0.10 0.10 0.09 0.13 0.13
42 | BT BRILITH T 2 A BN 9868
m 0.08 0.10 0.09 0.09 0.12 0.13
L i 50cm 0.11 0.11 0.10 0.09 0.11 0.12
43 Bl EBILITH 3L = A R 9A6H
m 0.10 0.10 0.09 0.09 0.10 0.11
L i 50cm 0.08 0.09 0.08 0.08 0.14 0.14
44 | BT BRLLI T ST ER LIS T R 9868
m 0.07 0.09 0.08 0.08 0.13 0.14
= e m e 50cm 0.08 0.08 0.08 0.08
5 | BB HRT IR () AS 9R6H [4pE-ERES ] EmL
= m 0.09 0.09 0.08 0.09
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EREBREMSHRE-AJHRE (EREF12EDHER
(ERK30FE9 A6 AT ESR)

TR305%9H28H

RF N EE B RAE (RSHRYD
BERKEARAR (RFHYD

BAESS ERHREFRAIEE(L Sv/h)
. RE-BES
No. | ETH 4 PR ZE | Som £ A0 (- ABOFHB) i
o sm [ #nE | 2@ | s11E | 4@ | ®0@
mars | mare | pase | HaeR | Base | paes
50cm 0.15 0.16 0.13 0.15
46 | BE)IIH REE FRENERRE RK=—— 9H6H [KE-EES] 8|L
m 0.14 0.16 0.13 0.15
) ] ) ) 50cm 0.10 0.10 0.09 0.11 0.08 0.08
47 | BEBNH CELE BECELERRCELE 9H6H
m 0.10 0.10 0.09 0.10 0.08 0.08
50cm 0.09 0.09 0.11 0.10 0.09 0.09
48 | AEITH YR AEISHFHE 9A6H
m 0.09 0.09 0.11 0.11 0.09 0.09
e L 50cm 0.12 0.13 0.09 0.09 0.12 0.13
49 | BEIH EEFR BEFHRER 9A6H
m 0.12 0.12 0.10 0.11 0.12 0.13
o 50cm 0.12 0.12 0.11 0.11
50 | B&IH BEEER AIUEBEREMESEEEER 9H6H [®E-EES] 8|L
m 0.11 0.12 0.11 0.12
50cm 0.07 0.07 EFERBOMEN =0, FEOOHE
Pt ?.a-u.A- 2@ Be g 4ot N FHPF pUunN 200D FPF A E
51 | B&IH BB AEIFEMER 9A6H - 005 007 [ hehE BERE | L
B 50cm 0.09 0.09 0.08 0.08 0.08 0.09
52 kS REE WERERM 9A6H
m 0.09 0.08 0.07 0.08 0.09 0.09
50cm 0.08 0.08 0.07 0.07 0.07 0.08
53 kS YFE HHMIIEENHE 9A6H
m 0.08 0.08 0.07 0.07 0.07 0.07
50cm 0.08 0.08 0.08 0.08 0.08 0.08
54 kS INEEAR HHF L EE/NER 9A6H
m 0.08 0.08 0.08 0.08 0.08 0.08
50cm 0.09 0.09 0.11 0.09 0.09 0.09
55 ™ INEEAR A 3L 78 [ /NP 9A6H
m 0.09 0.09 0.11 0.09 0.08 0.09
50cm 0.08 0.09 0.08 0.08 0.09 0.09
56 ™ INEEAR A LB AR AR 9A6H
m 0.08 0.09 0.08 0.09 0.09 0.09
. N 50cm 0.08 0.08 0.08 0.07 0.08 0.08
57 kS 2R HH L EERER 9A6H
m 0.08 0.08 0.08 0.06 0.08 0.08

5/9




BERESRMARE= )Y A CPREE 1 20 R
(FRI30F9 A6 BIE N HM)
E 3049 H28H
T A SE TR FAE (REHRYD)
BEEKEMERARE (REFHID
BAESS ERREERBIEME(L Sv/h)
= RE-BES
No. | wETH SRR ZE | Som M FEA (- MERD T E) =
ool em | om | mim | sm | ®11m
pEaR | Aass | nare | BaeE | Baes | BEeR
50cm 0.08 0.07 0.07 0.07 0.08 0.08
58 &)1 ET FEBTILR ) i 9A6H
m 0.08 0.07 0.06 0.07 0.08 0.08
50cm 0.08 0.06 0.06 HEREEE—BEeLmerEEE_Een
59 =) WERER 9H6H HEL.MERBEICEHER
m 0.07 0.06 0.06 B35
- o 50cm 0.09 0.09 0.09 0.08
m 0.09 0.08 0.08 0.08
50cm 0.11 0.10 0.08 0.08 0.09 0.09
61 HHEET BT )1 $hF#E 9A6H
m 0.10 0.10 0.07 0.07 0.08 0.08
50cm 0.09 0.08 0.07 0.08 0.08 0.08
62 HHEET BT 2 $h 9A6H
m 0.08 0.08 0.07 0.08 0.07 0.07
50cm 0.09 0.09 0.09 0.09 0.07 0.07 [EF] MIRELREEYHEL LA
63 | HHAET AR BT T3NS 9H6H it =
a 1m 0.08 0.09 0.09 0.09 0.07 0.07|EFIIFOA7HIZAIE
50cm 0.10 0.09 0.10 0.10 0.09 0.10
64 HHEET AR BT & /AR 9H6H
m 0.09 0.09 0.10 0.10 0.09 0.10
. 50cm 0.10 0.10 0.10 0.10 0.10 0.10
65 HHEET ST 9A6H
m 0.09 0.10 0.09 0.09 0.10 0.10
_ 50cm 0.08 0.07 0.10 0.08 0.08 0.07
66 | SEEWN KEENHPRRER 9A6H
m 0.07 0.06 0.08 0.09 0.08 0.07
50cm 0.08 0.07 0.09 0.08 0.09 0.08
67 |SEEWN SERBHRER 9A6H
m 0.08 0.07 0.08 0.08 0.09 0.08
50cm 0.06 0.06 0.07 0.07 )
69 | =iEEW HETRBEE 9A6H EFERBEOIEN =, REODOHAE
m 0.06 0.06 0.07 0.07
o 50cm 0.07 0.08 0.06 0.07 N
70 | SEEWR HKLAFREE 9A6H [®E-EES] 8|L
m 0.06 0.08 0.06 0.07

6/9




EERREMFRE=FI)VIHRE(EREFEF12E)HER
(ER30F9A6HFAERN ER)
FRK304F£9H28H
BF DK EH i % AL RESHEID)
EEERERERD(EFAI)

BESE 22 R 5 8 B S B ( 1 Sv/h)
B EES
T AT R4 B BT ZE | Som M ilaia CEWT e mE
o sm [ #nE | 2@ | s11E | 4@ | ®0@
50cm 0.07 0.08 0.08 0.07 0.07 0.07|[ IEM9 ] HEBIEPT
0.06 0.08 0.07 0.07 0.06 0.07 [fr‘ ! l%B BI?AI}L_A
1m I I . . . O7|[E-EES] EiE
SRENT CELE SBEHXCELE 9H6H =
50cm 0.06 0.07 0.07 0.06 0.07 0.07|[ IEM 1 FEEIER
[EKRO] 22EXYHE
im 0.07 0.07 0.07 0.07 0.06 0.06|[ #E-BEZE] 59K
50cm 0.06 0.07 0.06 0.07 |11 EEKBELH - EACYILREEE
SEE T CELE EACYILCELE 9868 A L =S e
= . 0.06 0.07 0.06 0.07 | EFIERIEOASEL F<tb, RIEDO DA%
. . R 50cm 0.07 0.07 0.07 0.06 0.07 0.07
KEFWH ZELE RECELEREEEYHE 9H6H
im 0.07 0.06 0.07 0.06 0.07 0.07
. . R 50cm 0.07 0.08 0.05 0.06 0.08 0.08
KEFWH ZELE RECELEBFNE=HHE 9H6H
im 0.07 0.06 0.06 0.07 0.07 0.08
. 50cm 0.08 0.07 0.06 0.06 0.06 0.06
SEENT CELE RBECELE BRE-PHEE 9H6H [#E-ERES ] BE5E
im 0.07 0.06 0.06 0.05 0.06 0.06
. 50cm 0.08 0.07 0.07 0.07 0.08 0.07
SEENT INgERR SEENT RN PR 9868
im 0.06 0.07 0.07 0.07 0.07 0.07
. 50cm 0.07 0.06 0.07 0.09 0.08 0.08
SEENT INgERR SEEIT AN 9868
1im 0.07 0.06 0.07 0.08 0.08 0.08
) 50cm 0.08 0.07 0.09 0.09 0.07 0.08
SEENT INgERR SEEINT L BEUN PR 9868
im 0.07 0.07 0.09 0.09 0.07 0.08
s . e 50cm 0.08 0.07 0.10 0.09 0.09 0.09
SEENT ks SEENTIESDER 9868
im 0.08 0.07 0.09 0.09 0.09 0.09
" o . s 50cm 0.05 0.06 0.09 0.09 0.08 0.08
SEENT BEER &RER 9A6H
1im 0.06 0.06 0.08 0.09 0.08 0.08
" o . - e 50cm 0.07 0.07 0.08 0.09 0.08 0.08
SEENT BEER ENFEEBR 9868
1im 0.07 0.07 0.08 0.08 0.08 0.08
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RER

REMSHRE=2)>T
(ERK30FE9 A6 AT ESR)

RE(FRFF 120D HR

TR305%9H28H
RF N EE B RAE (RSHRYD
BERKEARAR (RFHYD

AEEs AR E FAE B Sv/h)
RE-EES
No. | vhATH K5 S £ T ZE | Som EM ihain (ch - BB FHfB) s
ol em #m | 4w | zm [ s | zim
Prin | PaHE | PEKE | IaeR | BaeR | Saes
50cm 0.07 008 EMESROMEN . FBEOOHAE
Do Az B o AL B 2 rp _ FtP=F WILNZ8D . Flis HIE
82 | =iEHEWM BB FEEFREMRAI—IL 9A6H - 007 007 [ hehE BEREE | L
50cm 007 oo08] 007 o008 o0o0s] 010 - N 5
8 | Mt I S G bT DT Y 9768 LT L AR D R RS ]l
im 007 007 007] oo08] 00o]  o.ioffERuEEREREHR
50cm 007 oo0s] 007 o008 o0o0s] 010 - A 5
s | Mt e R T UG 9768 LT D R B ] it
im 007 007 007 oo08] 00o]  o.ioffEEuEIFREHR
50cm 007 oos| 007 oo08] o006] 007
85 | sz HHE AL RET T S S 9A6H
im 0os| 007 007 oo08] o006] 006
50cm 008 o009] 007 oo0s] o008] 009
86 | AisiEEr P R AT T B 9A6H
im 008 o008 007l o007 o008] o008
‘ . o . 50cm 009 o0o09] oos] oos] o0o08] o008
87 | isiEEr chag i R R T B th ek 9A6H
im 008 o009] oos] oo0s] o0o08] 009
. 50cm 00s| 007 oo0s| o0o0s| o007 006
88 | LyvhEM RER EHREM 9A6H
im 0os| o0o0s| o005 oo0s| o006] 006
] 50cm 007 oo0s| o007l o006 007 006
89 | LvbE REE HTHREE 9A6H [EF] WhEMIEES /NEHE £
im 007 oos| 007 o006] 007 006
50cm 0.05 0.06 0.06 0.06 0.06 0.06 E1 AR E LT 2R HE
‘ im 0071 007l o008 005 o006 00l RE-EES] EH1EE
90 | LvbhEM ZELE Tl HHE 9A6H
50cm 0.07 0.07| . -
[hepE-ERES ] H2EE
im 00s| 006
50cm oos| o0o0s| 007 o006] 007 007
ot | LpEm N W hET R E— N 9A6H
im oos| o0o0s| o0o0s| o006| o006] 007
. . 50cm 007 oos| o0o0s| o0o0s| 007 007 )
9 | LhEm 1N W hET R E S 9A6H [EFI] #ZHEBEEELA
im 007 oo0s| oos| o007 o006] 007
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EERREMGRE=F)VRABECEREF12E)HEE
(ER30F9A6HFAERN ER)
FRK304F£9H28H
BF DK EH i % AL RESHEID)
EEERERERD(EFAI)

AEEE R E EREE 4 Sv/h)
e EES
No. | ETH R4 B BT ZE | Som M FEA (- MERD T E) mE
ol em #m | 4w | zm [ s | zim
FERER | AERERE | AESR | AERER | AEER | AERR
. 50cm 0.05 0.05 0.07 0.06 0.06 0.07
03 | L= st WhEH RS — ik 9A6H
im 0.04 0.05 0.07 0.06 0.06 0.07
n . . 50cm 0.06 0.08 0.07 0.07 0.08 0.08
94 | L\bhEM BEER UE 305 9H6H
im 0.06 0.06 0.06 0.07 0.08 0.08

X TF11ERAEKR L. FH295E9A5ANS1013HICERLZIEERBRERSHRE=AV VAT (EREF 110D IICBT2AERR, TOMICOVTIL, HERICEEHT 5.
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